W3R AR5

= GERSFE R/ N3 43, 3 30 )

11 12 13 14 15 16 17 18 19 20

=
K| D A D A C D A B B C

I\, KRR (ARKEIE 6 A~/INBT, 31 /NI 3 43,32 /INBE 3 43,33 /ML 6 43,34 /NEE 10
7,35 /N 3 43,36 /)N 3 43, 3 28 43)

31, (DE TR IR LA 1) e
(D)gi/h  (3)KkHEL

32. (DIRFERFEAA (2)98 M&F

3B (DL EMRREFZEL 4 (2)18.2 (3)20  0.91x10° (4) i/

34, (1D)BEZEWE 2 4r)

(2)12.5(2%3) (AT 227 (2 41)
(OARNEHL(240) A BT AN BE BT Y Wi L e — o 2 A FUHR (2 43)
35. (1)ABC(E DEF)
() REBEFEIC RSN S50 (A EERIT] )
36. (1)IEFERAAL SR T3 h KRR e K ARM (1 43)
(2) 5250 BB KA T AR AR A3 TP, RN S A3, FH ) 77 3R AR oK
1R EH ALK T ARORER ] SN T T R B T R . (2 ) (R ELEPET)
NERE R (AR KL 5 4/, 37 .38 .39 B /NBIAEZE 45 1 43,40 /NEL 2 53,41 /NG
14 53, () = DU 9 fif ol R B A WA LI SOt B TP A RNE AL 3R, RS s
ARy, 222 41)

37. IUHF 4.2x10°

38. HhR)JEEN K, L M

39. 7.2x10*  1.44

40. Z A

41. [A)— : HLfG %
e CHLAY S 5% UK, NI T BRS8N S8 TR AR

[F)— : TC A HLEE AR BTHE R HE L, R Ry 0 58 2 S CHL AT AN AL — A2 1) i i 2y, JE i
BT LTI , M EA R AR AR Ik i o B b 2 ) iz 3, it AFE 215k B
ﬁELﬁZﬁﬁa}%ﬁﬁﬁﬁgzj‘ﬁgﬁqn 7 4 4y
()= : (1) TC ALK BRI T (1) G E )

G=mg=(300 kg+200 kg+1100 kg)x10 N/kg=1.6x10* N

IKVHCE RS, TE BT HLTE R ST F e=6=1.6x10* N

T NP Bt il p= L= LOMOR 109 P s 2 4%
(2) 6 AHLIE 4 AL
=180 km/h=50 m/s

H P:thzﬁ%szpy 15

428 Sy F =L 215000 W _;560 N
v 50 m/s

TCABIKAA] 38 T & AT i 32 1 BH )

FEF 5=1500 N oeeneeemne ettt 24
(RIS DY . B E S AR, 0 5=280 km/h i, R=10 Q

R 5 Ry HBEE, gt HH B HBH R 4=R+R=10 Q+15 Q=25 Q

neg = U 12V _
FEL 3 A 4 L O I_R PR 0.48 A

i P=ULLI= 1t

Ro WL I P=PR=(0.48 A)X15 =3.456 Weeecreearueurmaeneneiuiiaiienennnneniae. 4 4y

HRHES (BSR4 50 (k4 50



